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Research Entrance Test-2016

No. of Questions : 50

Time : 2 Hours Full Marks : 200

Note: (1)

(2)

(3}

This Question Boocklet contains 40 M ultiple Choice Questions
followed by 10 Short Answer Questions.

Atlempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 (One) mark will be deducted for each incorrect
answer. Zere mark will be awarded for cach unattempiec
question. If more than one alternative answers of MCQs seem
o be approximate to the correct answer, choose the closest nne.

Answer only 8§ Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 wortds.
Blank 5 (Five) pages attached with this booklet shall only he
used for the purpose. Answer each question on separdte page,
after writing Question No. E

N ——

01. Where is the International Rice Research Institute located ?

(m
(3

Manila 2] Chicago
{airo {(4) Cuttack

02. Trypsin is basically what ?

03.

oy
[3)

Fatty acid (2] Sugar
Oligo-nucleotide (4] Protein

GMOQ stands {or what ?

(1]
(2}
(3]

)

Genetically Modified Organisms
Genetically Multipied Organisms
Green Modified Organisms
Green Modified Orange

3 B.T.O.
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04.

05.

06,

07,

08.

Q9.

Wwhich international treaty was documented in 1987 and implemented
i1 1980, to avoid deleterious effects of ultra- violet radiation owing to
ozonc layer depletion ?

11} Cartagene protocal

(2} Moentreal protocel
(3

(4

4] Antartica Environmental protocel

Geneva protocol

The tissue bearing dead cells 1s ?
(1)  Collenchyma (2) Parenchyms
(3] XKylem (4) Phellogen

Sub-cellular componenis are separated by ineans of ?
{1} Chromatography

(2] Autoradiography

(3) Electrophoresis

(4) Differential and density gradient centrifugation

Wiich these is a vertebrate animal ?
(1)  Prawn (2) Snake
(3] Mosguito (4) Octopus

Which of these is not a C, plant ?
(1] Maize (2] Rice

(3} Sorghum {4] Sugarcane

Cell theory was first formulated by ?
1] Schleiden and Scawann (2] Rudolf Vrichow
(3] AV. Lesuwenhock (4) Ruth Sagar
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10,

11.

12,

13.

14.

135.

Appleisa ?
(1) True fruit (2)  False fruit

(31 Vepelahble {4) Parthenocarpic fruit

According to Prof. Schumpeter which is not true :
(1) [nvention is the discovery of the new technigque

(4] Imnowation is the practical application of an invention in
production for the market

(31 Innovation is the commercialization of an invention
(4} Innovation and invention both are one and the same thing

Ecanomic development and technological advancements are .
{1} Linearly correlated (2] Negatively correlated
{31 Positively correlated (4} Uncorrelated

The expansicn path of production theory is analogous in consumption
theory to the ;

(1} Price consumption curve {2) Income consumption curve
(31  Engel curve (4} Budget constraint lifne

The elasticity of technical substitution is measured by
(1] The slope of the isogquant

(2] The change in the slope of the igoguant

(3] The ratio of factor inputs

(4] None of the above

The amount of factors used, the guantities of product produced and
techinique of production adopted by the producer implies :

{1} Factors of production (2] Consumer's behaviour
(3} Seale of production {4] All the above

5 P.T.O.
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16.

17.

18.

19.

20.

21.

The elasticity of substitution for Cobb Douglas Production function s
cogual Lo

(1) 1 (2) © (3) 2 4

The elasticity of substitution for CES Production function varies
between .
(1} Otol (2} 0 to infinity

(3 -1 to infinity (4) 1 to infinity

Which production function admits both Harrod Newtral and Hicks
neutral technical progress 7

(1) CES 2} VES
{3 Cebb Douglas (41  None of the ahove

When the estimated slope coefficient in the simple regression model
is zero then ?

(1) RE=Y (21 0=R <1
3} R*=0 4) Ri=1

The fitied regression is given by ¥ = -12 + 0.5X. What is the value of
the residual at the point X =50 and Y = 70 ?
(1) 57 (2) =57 (3 0 4) 33

I we naltiple ¥ by 1000 and estimate the same regression, this will
lhave no effect on :

(11 The estimated infercept parameter

(2] The cstimated slope parameter

(31 The total sum of squares for the rERression

(4]  R? for the regression
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22. 1T a quantitalive variable has 'm' categories, we can introduce -
(1) Cnly m-1 dumuny variables
(2)  Only m dummy variables
(3] Only m+1 dummy variables

(4] Only m+2 dummy variables

23. In case of Durbin Watson test for. autocorrelation the value of "d" may

vary between :
(1) Oand]l (2) 1and4
(3] Cand4 4) 2and4

24. The assumption underlying the Tobit model is
(1] Chi -square distribution (2) Logistic distrubution

(3} I distribution _ (4) Normal distribution

25. A cartel aims at maximizing
{1} Individual profiis {2) Industry profits

(3} Share of output of members (4] Goodwill of the member

26. Slutsky equation explains the :
(1) Demand for durable goods
12} Supply of durable goods
(3] 3Split between price, income and substitution effects

(4] Demand for rare goods

T PaT-Un
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27, Inlerior geods have :

28.

29,

30.

31.

(1] Zero incorne cffcol (2) Posilive income effcct

(3] Negative income effect (4) Infinite income ellect

In the equation X7 4 X? 215, the following assumption of Linear

Programming is violated :

(1) Addiavity (2] Linearity
(3] Divisilabity (4] Single value expeclation

For the testing of consistency and viability of a pianning project, which
of the prices are used :
(11 Controlled price (2) Markel nrice

(3] Administered price {4) Shadow price

Targeled agricultural growth during 12% Five Year Plan is :
fl] 7.5 percent (2) 8.0 per cent

(3) 4.0 per cent (4) 5.0 per cent

Minimum support price for wheat during 2015-16 was .
(1) Rs. 1525/ quintal (2}  Rs. 1450/ quintal

(3] Rs. 1650/quintal (4] Rs. 1575/ quintal
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32,

33.

34.

35.

36.

Coefficien! of correlation is independent of -
(1] Change of origin only (2) Change of scale only

3] Change of origin and scale (4} None of the above

The Chairman of CACP is :
(1} Dr. Ashok Gulati (2} © Dr. Ramesh Chand

¥

i2) Dr. P.K. Joshi {(4) Dr. V.P. Sharma

When two or more successive foolnotes refer to the same work which

one of the lollowing expression is used ?
(1} ibid (2] etal

(3) op.cit. ) (4) loc.cit.

In the process of conducting research "Formulation of H ypothesis" is

[ollowed by :
1] Statement of objectives (2) Analysis of data

(2]  Selection of research (4] Collection of data

A monopolist should charge lower price in the market where -
(1} Demand is highly elastic (2) Demand is elastic

(3) Demand is less elastic [4) Demand is inelastic

9 P.T.0,
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37.

38.

39.

40.

In 2014, Burepean Union [EU] banned import of following aericulivral
[procuct
(1] Pouliry products (2} Curry leaves

(3} Alphanso mango {4) Cheese

Ex Post Facto research means .

i1)  The research is carried out after the incident

(2] The research is carried out prior to the incident

13} The research is carried out along with the happening of an
mcident

(4] The research is carried out keeping in mind possibilities of an
incident

It case of forced sale

(1) Marketed surplus is equal to marketable surplus
(2} Marketed surplus is less than marketable aurplus_
(3] Marketed surplus is more than marketable surplus

(1) None of the above
Concept of MPC is related with .

(1] Saving [2) Investment
(3] Production (41  Consumplion

10
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Short Answer Questions

Note: Attempt anv five questions, Write answer in 150-200 words. Each
i A q

quesition carries 16 marks. Answer each question on separate page,
after wriling Question Number.

T ——

1. Selution for removing the multicolliniarity I —
2. Revealed preference theory

3. Duesemberry's effect

4.  Autonomous and induced invesiment

5. Speculative demand for money

6. Law of decreasing returns and decreasing return to scale

7. Giffen's Paradox

8. Characteristics of Cobb-Douglas production function

9. Slack variables

10. Optimum feasible solution

11 100
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Question No. Page for Short Answer
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Question No. Page for Short Answer
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